B The window for the view of trace = O X

[Time - 13:12:08.860

CDR Message

Message - 0D (9003033323031 39313331 32303030 303220202020 20 20 20 20 20202020 2039 31 31 313820202020 20 20 20 2020 20 2032303031 20202020 2030 2020 20 2020 20 20 20 20 20 202020 20 20 20 0D Q&
Feat flag - 9

Cond code - 0

CDR Message - 032019131200002 g111e 2m 0

13:42:01 aﬁu < SETUP

13:12:01.860  —=| CALL PROCEEDING
1312:01.850 —> ALERTING

131205240  —=| CONNECT

13:12:05.280 <— | CONNECT ACKNOWLEDGE

13:12:06.860 —=| DISCONNECT

13:12:06 520 <— RELEASE

13:12:06.920 —> RELEASE COMPLETE

Message - 4001 180F 08020055 05A1 04 03 30 90A3 18 03 A3 8381 1E0281 836C 060080323030 31 7013803931 313138303031 3436 3938393331 3832 34

Tirne - 13:12:01.860

ISDM Message - Uplink

40 - Port Metwaork 01

01 - Reserved

18 - Carrier Address of D-Channel [Unknaw 18]
0OF - Port Mumber of D-channel 16

08 - Protocol Discriminatar [(.931)

02 - Call Reference Length

00 55 - Call Reference 85 Direction - 4->B

05 - Message Type [SETUP)

Infarmation Element A1 - Sending Complate

Infarmation Element 04 - Bearer Capability : 9090 A3
Length of Information Element - 03 [ 3 octets |
Octet value = 90
[#00x=44] = Cading standard - CCIT standardized coding
[#==10000] = Information transfer capability - 3.1 kHz audia
Octet walue = 30
[#00xA=m=] = Transfer Made - circuit mode
[wxx10000] = Information transfer rate - Bdkbit/s
Octet walue = 43
[0 ] = Layer 1 identification
User information layer 1 protocal:
[#==000711] = Recommendation G.7171 A-law

Irformnation Element 18 - Channel |dentification : A3 83 81
Length of Information Element - 03 [ 3 octats |
Octet value = 49
[#0mmeee] = Interface identifier present - interface implicitly identifier
[mmTmmmmn] = Interface tppe - ather interface e.g. primary rate
[ ] = Preferred/excluzsive - exclusive: anly the indicated channel is acceptable
[#meie] = D-channel indicator - the channel identified iz nat the D-channel
[mmmms01] = Infarmation channel selection - as indicated in following octets
Olctet value = 83
[#00xA=m=] = Coding standard - CCIT standardized coding
[wmmDmiee] = Mumber/map - channel iz indicated by the number in the fallowing octet
[#===0011) = Channel tppe / map element - B-channel units
Octet value = 81
Channel number # zlot map - 1

Infarmation Element 1E - Progress Indicator : 81 83
Length of Information Element - 02 [ 2 octets |
Octet walue = 81
[#00x5##] = Coding standard - CCIT standardized coding
[w===00071) = Location - private network, serving the local uzer
Octet value = 22
[=0000011) = Progress description - Qrigination address iz not-lSDM

Information Element BC - Calling party number : 0080 32 30 30 31
Length of Information Element - D6 [ B octets |
Octet walue = 00
[#000w=m) = Type of number - unknous
[wam0000) = Murmbering plan identification - unknown
Octet walue = 80
[0 0wwemn] = Presentation indicator - presentation allowed
[wwwmee00] = Screening indicatar - uzer provided, not screened
Calling number - 2001

Information Element 70 - Called party number : 8039 31 31 3138303031 34 363938393331 383234
Length of Information Element - 13[ 19 octets |
Octet walue = 80
[#000R=x%] = Type of number - unknown
[0000) = Mumbering plan identification - unknown
Called number - 31118001 4598931824




13:12:01.360 —=| ALERTING

13012:05.240 —= COMNECT

13:12:05.280 | =— CONMNECT ACKNOWLEDGE
13:12:06.860 —=| DISCONMNECT
13:12:08.920 | =— RELEASE

13:12:06.920 —=| RELEASE COMPLETE

Meszage - 400118 0F 0202 83055 021202 A3 83 9

Time - 13:12:01.860

[SOM Mezzage - Downlink

40 - Port Metwork, 01

01 - Reserved

18 - Camier Addrezs of D-Channel [ nknow 18]
0F - Port Mumber of D-channel 16

08 - Pratocal Dizgcrirminatar [[1.937]

02 - Call Reference Length

30 55 - Call Reference 85 Direchion - B-»4

02 - Mezsage Type [CALL PROCEEDIMG]

Information Element 18 - Channel |dentification : 49 83 81
Length of [nformation Element - 03 [ 3 ochets |
Octet valus = A3
[s0msen] = Interface identifier present - interface implicity identifier
[ ] = Interface wpe - other interface e.g. primary rate
[T ] = Prefered/exciuzive - excluzive: only the indicated channel iz acceptable
[stmmm D] = D-channel indicatar - the channel identified iz nat the D-channel
[wsmmms] = Information channel selection - as indicated in following octets
Octet value = 83
[00wewm] = Coding standard - CCIT standardized coding
[l ] = Mumber/map - channel iz indicated by the number in the following octet
[swm0017] = Channel wpe / map element - B-channel unikz
Octet values = 31
Channel number / =lot map - 1

13:12:01.850 | =— SETUP

13:12:01.860

13:12:01.880: —= ALERTNG

13:12:05.240 —» CONNECT

—=| CALL PROCEEDING

13:12:05.280 | =— CONMNECT ACKNOWLEDGE
13:12:06.360 —=| DISCONNECT
1312:08.920 | =— RELEASE

13:12:06.920 —=| RELEASE COMPLETE

Meszage - 4001 18 OF 05 02 80 55 M

Time - 13:12:01.860

[SOM Meszage - Downlink,

40 - Port Metwork, 01

01 - Reserved

18 - Carmer Addrezs of D-Channel [Unknow 13]
0F - Port Mumber of D-channel 16

03 - Protocal Dizcriminator [[3.937]

02 - Call Reference Length

80 55 - Call Reference 85 Direction - B-»4

M - Message Type [ALERTIMNG]




13:12:01.880 | =— SETUP

13:12:01.860 —=| CALL PROCEEDING

13:12:01.860 —= ALERTING

..... —= CONNECT

1 3:12:0._-.286" - CONNECT ACKNOWLEDGE
13:12:06.860 —=| DISCONNECT
13:12:06.920 | =— RELEASE
13:12:06.920 —=| RELEASE COMPLETE

Meszage - 40 01 18 OF 03 02 80 55 07 1E 02 81 82

Time - 13:12:05.240

[SOM Mezzage - Downlink,

40 - Part Metwork, 01

01 - Reserved

18 - Camier Address of D-Channel [ nknow 18]
0F - Part Murnber of D-channel 16

0 - Protocol Dizcriminatar [[.937]

02 - Call Reference Length

20 55 - Call Reference 35 Direction - B-»4,

07 - Mezzage Type [COMNMECT]

|nformation Elerment 1E - Progress Indicator ; 81 32
Length of [nformation Element - 02 [ 2 octets |
Octet value = 81
[w0Denm] = Coding standard - CCIT standardized coding
[mp0007] = Location - private network, serving the local user
Octet value = 82
(000001 1) = Progres: description - Destination address iz not-|S0OM

13:12:01.8680  =— SETUP
13:12:01.860 —=| CALL PROCEEDING
13:12:01.860 —> ALERTING
13:12:05.2410 —= CONMECT

13:12:1}5.230'; L CONNECT ACKNOWLEDGE
13:12:06.860 —=| DISCOMNECT
13:12:06.820 =— RELEASE

13:12:06.920 —=| RELEASE COMPLETE

Mezzage - 4001 18 OF 02 02 00 55 OF

Time - 13:12:05.280

SO Mezzage - Uplink,

40 - Port Metwork, 01

M - Reserved

18 - Camrier Addrezs of D-Channel [Unknow 18]

OF - Port Mumber of D-channel 16

08 - Protocal Dizgcriminator [[1.937]

02 - Call Reference Length

0055 - Call Reference 85 Direction - A-=B

OF - Meszage Type [COMMECT ACKNOWLEDGE)




13:12:01.880 | =— SETUP

13:12:01.360 —=| CALL PROCEEDING
13:12:01.360 —= | ALERTING

13:12:05.240 —= CONMNECT

13:12:05.280 | =— CONMNECT ACKNOWLEDGE

13:12:08.920 | =— RELEASE
13:12:06.920 —=| RELEASE COMPLETE

Meszage - 4001 18 0F 023 02 20 55 4503 02 51 90

Time - 13:12:06.860

[SDM Mezzage - Downlink,

40 - Port Metwork, 01

01 - Resemved

18 - Camier Address of D-Channel [ nknow 18]
0F - Port Mumber of D-channel 16

03 - Pratocal Dizcrirminatar [[1.937]

02 - Call Reference Length

3055 - Call Reference 85 Direction - B-»4

45 - Mezsage Type [DISCONMECT]

|nfarmation Elerment 08 - Cause : 81 90
Length of [nformation Element - 02 [ 2 octets |
Dctet value = 21
[w00eem] = Cading standard - CCIT standardized coding
[wwmw0007] = Location - private netwark, zerving the local wser
Octet value =90
(%001 0000) = Cauze walue - Marmal event
16 - Marmal call clearing

Message 0 0 |
13012:01.880 | =— SETUP
13:12:01.860 —=| CALL PROCEEDING
13:12:01.860 —=| ALERTING
13:12:05.240 —=| CONMECT
13:12:05.280 | =— CONMNECT ACKNOWLEDGE
13:12:06.360 —=| DISCONNECT

13:12:08.920 —=| RELEASE COMPLETE

Message - 4001 13 OF 03 02 00 55 40 09 0280 30

Time - 13:12:06.920

ISOM Meszzage - Uplink,

40 - Port Metwork, 01

01 - Reserved

18 - Carmer Addrezs of D-Channel [Unknow 13)
0F - Port Murber of D-channel 16

08 - Protocol Discriminator [G.931]

02 - Call Reference Length

00 55 - Call Reference 35 Direction - &-:B

40 - Message Type [RELEASE]

Information Element 03 - Cause : 30 30
Length of Information Element - 02 [ 2 octets |
Octet value = 30
[#00=mxm] = Coding standard - CCIT standardized coding
[smm000] = Location - user
Octet value = 30
[=0070000] = Causze walue - Harmal event
16 - Narmal call clearing



13:12:01.880 | =— SETUP

13:12:01.860 —=| CALL PROCEEDING
13:12:01.860 —= ALERTING

13:12:05.240 —=| CONMECT

13:12:05.280 | =— CONNECT ACKNOWLEDGE
13:12:06.860 —=| DISCONNECT
13:12:06.920 | =— RELEASE

Meszage - 40 01 18 OF 03 02 30 55 54

Tirme - 13:12:06.920

[SOM Mezzage - Downlink,

40 - Part Metwork, 01

01 - Reserved

18 - Camier Address of D-Channel [ nknow 18]
0F - Part Murnber of D-channel 16

0 - Protocol Dizcriminatar [[.937]

02 - Call Reference Length

20 55 - Call Reference 35 Direction - B-»4,

A - Meszszage Type [RELEASE COMPLETE]



